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f(ieneml Instructions to Candidates : ;
e Thereis a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-oft time’. :
Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering. .
All questions are eompulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is-also-provided. '
Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the
Examination Hall. '
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Identify the following C++ tokens.

(a) “welcome” (b) int |

(¢) >= ’ (&) ++ (Scores:Z).

operator is the arithmetic assignment operator.

(a) >> ' (B =%

(c) += (d = (Score : 1)

Explain break and continue statements ‘with example. (Scores : 3)

‘Explain how allocation of string takes place in memory. (Scores : 2)
OR

tes MR (Scores : 2)

Explain gets() and puts( ) functions.

Write a C++ program to enter 10 numbers into an array and find the second largest

element. : (Scores : 5) - '

OR
Write a C++ program to convert all lowercase alphabets stored in a string to

uppercase. . ; (Scores : 5)

Explain three string functions in C++. (Scores : 3)

Write a program using a function to interchange the value of two variables. (Use call by

refereince method for passing arguments.) ‘(Scores : 3)
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char s1[10] = “hello”, s2[10];

strepy (s2, s1);

cout << s2; _

What will be the output ?

(a) hello (b) hel

(¢) |hell (d) No output

The port no. for HTTP protocol is
(a) 20 p (b) 80
(¢) 110 (d 53

Ditferentiate static and dynamic web page.
Pick the odd one out :

(1) BODY (b) HTML
(c) HEAD (d) ALIGN

tag in HTML is used to create a drop-down list.

(a) SELECT (b) OPTION
(¢) INPUT +(d) LIST

Write an HTML code to create the following table :
PAY ROLL

EMPNO | NAME | SALARY

101 ABIN | 15000
102 SINI | 25,000
103 ANU | 20,000
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Write a JavaScript which inputs the name, rollno and date_of birth of a student. Date

2)

16.

of birth contains month, day and year. Month should be selected from a drop-down list.

(ScoreAs : 3)
17. DNS stands fbr . , . (Score: 1)
H&S e ‘

18. Differentiate shared and dedicated web hosting. (Scores :
19. Explain responsive web design.. (Scores : 3)
20. is the symbol used for select operation in relational algebra.

(@ o© by T

(©) U ‘ (d) N - (Score : 1)
21. Explain advantages of DBMS over convéntional file system. ' (Scores : 5)

command in SQL is used to display the structure of a table.

(ay = LIST (b) STRUCT

(¢) DESCRIBE (d) SHOW (Score : 1)
23. Explain primary key constraint with an example. _ , (Scores : 2)
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24.  Write SQL for

(a) Create a table student with the data [nzime__char(ZO), rollno number(3), marks

number(3)].
(b) List name and rollno of all students.
(¢)  List name and rollno of students having marks > 600. ~ (Scores : 3)

OR

9
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An employee table contains name, empno, basicpay, desig. H ¢SL WE
Write SQL for

(a) Disp}ay name, empno and basicpay of all managers. (desig = “manager”)

(b)  Display empno and salary of all employees.

(salary = basicpay + da)

(da = basicpay * 1.15).
(¢) Display name and empno of all the employees whose basicpay < 10000.

(Scores : 3)

26.. List the benetits of ERP implementation in an Enterprise. : : (Scores : 3) |
27.  SAP stands for . | ' (Score : 1)
- 28. is the popular mobile OS developed by Google based on Linux Kernel.
(a) Android (b) i0OS
(c) ‘Blackbén‘y ‘() go (Score : 1)
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29. Differentiate GPS and EDGE., (Scores : 2)

30.  Write short note on IPR infringement, (Scores : 3)

3. Pick the odd one out .

(a) Kitkat (b)  Jelly Bean

(¢)  Icecream Sandwitch (d) ios (Score : 1)
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